FAERZEAL—L BLOR &F J3—rRATAFAHSE (2=ES) 18988
<|H6F s8HIHEU>

___ (SrEsaB e E=ma)
SRR éﬁﬁ% e INEF 1EEME | 1388
ZE5 - 987 142 6 18 1153 12,798 1,280 | —Aico&, A HBaismii:.
BE4 918 132 6 18 1074 11,921 1,192 ﬁﬁﬁif?ﬂﬁﬁgg = %%g%uxﬁ
ZE3 847 122 6 18 993 11,022 1,102 | ¥ (12.2%) (1K i
= 772 111 6 18 907 10,068 1,007 m‘“"’iﬁ%}g@iﬁm%@
F2q 704 102 6 18 830 9,213 921 ™
EXE2 656 93 6 0 755 8,381 838
EFE 529 75 6 0 610 6,771 677
- <BEnN0a 1B 11.18> LB £
(B #% [naeszars] 10 52 O CEEEs
T wEE | BE (=L EASE| =5 nra| SR/ EEFEE
: i 0 TEE it
% ———)
1 3 380 300 7 600 R 410
g | EERERGEE X 2 880 300 Fi 600 - | 1780 410
P 1 880 300 / 410
EXxigEe 880 300 / 410
EXE1 880 300 410
5 880 600 1,280 410
4 830 600 1,192 410
% ERBIETIERER 3 880 600 1,102 210
5| FERESRAEL 2 880 600 1,007 210
B SR EEEOSEA 1 880 600 921 410
ER0FHELT EXE2 880 600 838 410
EXE1 880 600 677 210
5 1,370 1,000 1,280 410
= 4 1,370 1,000 1,192 410
3 | EEHEEIESER 3 1,370 1,000 1,102 210
Bt | SE2BRRSICZLTD 2 1,370 1,000 1,007 410
B| usok 1 1,370 1,000 921 410
@ |[££80FMHRBI20FHLT | =xE2 1,370 1,000 838 410
E¥E1 | 1370 1,000 877 410
5 1,370 1,300 1,280 — 410
= 4 1,370 1,300 1,192 410
3 | EEHBHEESRE 3 1,370 1,300 1,102 410
B | SE2BREICZNd 3 2 1,370 1,300 1,007 210
B| csos i 1,370 1,300 921 410
@ | £2120F5H8 EXEo 1,370 1,300 838 410
E¥E1 1,370 1,300 677 410
5 2,066 1,535 1,280 410
= EEFHEBERBLLL 4 2,066 1,535 1,192 410
4 FEL£266FME 3 2,066 1,535 1,102 410
g |(HIBOBHIREICLS 2 2,066 1,535 1,007 410
B BEEMARE, 1 2,066 1,535 921 ! 410
BHREEENE0S EXE2 2,066 1,535 838 5039 410
FERO E%iE1 | 2,066 1,585 677 278 600 __4878 410
<BEENR> HE:3850 EA&:59%50 S&.555H <ERERF>ESShESIcHEar UM O1E50H

<L2&jL> K$E:200H HES:100H FLF:300H XEBREOATERESEIREA TS TIBSEARELES,



